BOTEIEREAMT Ay — K2

NG

2018%F2R11H
FEMENXEERAT— 22—

FiE WA HEHHEERRSHERS

#®iE SREHHES O THETH - REFIRA o — MER
RBPAHK - TRHEIN-T - TP —-T1 )

FE RHRAT5—-IMEE



E# B F500m £504%:03850 % B F ¥ GHEH) 54EAS
& No E F 4 & B 15z Bk k= Ba
2 322 |LAEE HiiE] 1 0:47.26
x® 423  fEKmE ¥5 2 0:51.64
E! 109 ETIEE BN DNS
BERZF500m £5043:04104 & H A GHEH) 62BAS
=) No ® F £ & [t Bk k= B/a
% 461 FEBRERTE % DNS
— 8 B8 7258 LL F500m KE&505%:03746 55 K = F GRI) S1EAS
=) No ® F £ & [t Bk imE B/a
= 323 Lih—E RER 1 0:39.08
BE 421 B RE *5 2 0:40.23
x 426 IRRE=E % 3 0:40.32
HE 324 HEEAN HilEi] 4 0:40.82
% 210 HEBR{ TiREA DNS
7 508 FHAEKX EXR DNS
— iR BB F 26k ~295%500m £508%:0:3951 €& F BKER GREH) 66[EKE
& No B F £ g [t ECE% ik B/a
% 428 FigEt 5 1 0:41.61
g2 325 TEMEKX Bl DNS
BHE 326 =:ERER Eii] DNS
— {2 B 7308 ~395500m £524%:03854 £ & & 7 (FREA) 66EKE
7 No E F 4 g B4z ECE% ik Ba
2 327 EFEKXE HiiE] 1 0:39.99
7 509 {E{HERE EtR 2 0:42.91
= 110 EEE FIES 3 0:43.01
B 510 ZEEEKXR EtXR 4 0:43.30
HE 328 tERE— BBl 5 0:44.96
x® 431 FBRBAK *5 DNS
— % BB F405% ~498%500m 250419 A £ R (FH) 8EKE
=) No E F 4 & B 15z SCER k= B
2 329 dREE HiHil 1 0:44.93
HE 330 EFHE{C HiiE] 2 1:02.38
% 211 B TiEA DNS
7 511 FEKEZ EXR DNS
— % B8 507 ~ 59 500m £524%:04536 H Bk A = (FH) 64EKES
=) No E F 4 g JIE sz EC 8% k= Ba

% 432 EHEKEAE

% 0:46.18

3 1
HE 332 XB#HE WEh 2 0:46.83
) 331 ERER i) 3 0:48.15
% 212 EIRFE TiREA 4 0:57.39
HE 433 HEWRFHE E254 5 0:58.23




— % B F605%% ~ 698 500m 2508%:04854 #1 A £ % (FH) e6EKE

= No E F A g g fi2 FoER B=E Ba
& 434 HIHEEE E254 1 0:48.38
BHZE 435 HBEMX % 2 0:49.09
% 213 IAER TiREA 3 0:53.14
" 111 htiER i & 4 0:54.69
i 513 fREEFR EXR DNS
— % BB F 708 L1 L500m £E08%:057.19 KAR R B (FH) s8@EAS
& No E F A i I fi2 AR &% Ba
" 112 kFHMBEE i & 1 0:58.27
% 436 HIIHEX 5 2 1:24.12
= 333 WH—2 Bl 3 1:26.02
BE 437 AEF— 5 4 1:36.25
—#8 £ F500m £508%:04369 88 & F £ (@D 62mAS
= No E F 4 g g fi2 Ao ikl Ba
% 462 ERAEHE % 1 0:48.01
HE 353 {F#EswpyY Bl 2 0:48.31
" 120 FRERX il & 3 0:48.60
% 223 FHHH=R TilREh 4 0:49.43
R 352 FRHER WEH 5 0:56.07
Bk 224 BIRUOEKY TilEh DNS
=58 F500m £508%:03876 2 I % # (AR) 66@KE
148 =) No E F 4 iz I 52 Ao &% Ba
B&E 421 UKEX E254 1 0:39.58
HE 107 EBEW RN 2 0:39.78
& 422 HAFEE E254 3 0:39.85
" 105 #EXK & 4 0:40.11
= 319 JbEFEWw imEH 5 0:41.68
2%
= 317 =HRKX imEH 1 0:39.62
HE 320 MRHEEZ WEH 2 0:41.48
# 420 FH% E254 3 0:41.87
% 208 THRX TiREA 4 0:54.64
" 106 #KffgE i) & DQ(
3#f
= 318 EFIGAX imEH 1 0:42.54
" 108 REMER & 2 0:43.39
#*® 419 FEKXi > 3 0:44.69
% 209 FLthEk TiREA 4 0:45.17




HZE 421 UKEX *% 1 0:39.58

= 317 =HRX imEH 2 0:39.62

BHE 107 EEW® FES 3 0:39.78

% 422 HKEE E254 4 0:39.85

" 105 #EIXK RN 5 0:40.11

HE 320 $EAEZ i) 6 0:41.48

= 319 JEEFEW EiE] 7 0:41.68

B 420 FH% *% 8 0:41.87

= 318 EFIGX Bl 9 0:42.54

" 108 REMER i) & 10 0:43.39

% 419 HEKi % 11 0:44.69

% 209 FHITthEk TiREA 12 0:45.17

% 208 tHRX TiREA 13 0:54.64

" 106 #KfiEE i & DQ(

B} sxsom £55:04248 0 B B 2 GRH) 2EXS

148 & No B2 F 4 g g fi2 A% ikl Ba

BHE 348 SHIE Bi;] 1 0:42.04 CR

D 518 KIBHEIE EXR 2 0:42.42 CR

% 221 FFERATEE TREA 3 0:43.62

& 613 EIRFEME & 4 0:43.81

o 119 XIFHE R 5 0:44.17

= 347 KEFEH Bl 6 0:44.37

HZE 459 XRIFEHE 5 7 0:45.39

B 460 FILFIE *% DNS
2%

#® 457 S/ HEER E354 1 0:44.61

B 612 FFEAEHE & 2 0:44.79

= 349 JbIRFEE ;] 3 0:44.84

HE 350 /MWESHFE i) 4 0:44.99

% 222 #EBEE TiREA 5 0:46.12

A% 458 /INEEER *% 6 0:46.88

" 118 RHFEM R 7 0:47.34

HE 348 S$HIE ;] 1 0:42.04 CR

Din 518 KllIHEIX EtR 2 0:42.42 CR

% 221 EFERATEE TiREA 3 0:43.62

B 613 EIRFEME [ 4 0:43.81

" 119 RIFHE R 5 0:44.17

£ 347 JKEFEH WEh 6 0:44.37

# 457 S/ HEE E254 7 0:44.61

B 612 EFEAEHE & 8 0:44.79

) 349 bR R i) 9 0:44.84

HE 350 /IhESHE ;] 10 0:44.99

HZ& 459 XKIFE{E % 11 0:45.39

% 222 ¥HEBZE TiREA 12 0:46.12

HZE 458 /MNFEEE > 13 0:46.88

" 118 MmHFEM & 14 0:47.34

% 460 HFILFIE *% DNS

m IINE6 £F B F500m £50483:04207 % it & - (B 62@AS

148 =) No E F A g g fi2 FoER k=t Ba

& 415 EEHE E254 1 0:44.21




= 314 =HEWK imEH 2 0:44.38
HE 315 WFERM EiE] 3 0:45.77
" 103 EMEE R 4 0:46.22
i 507 FEETE&E EXR 5 0:48.09
= 604 {ERK Z I 6 0:50.99
248
= 316 F &AM EiE] 1 0:48.83
" 104 EBEHih i & 2 0:49.61
A% 417 HEKIE E254 3 0:49.90
x M6 =ZHTA T *% 4 0:50.23
B 603 {TH (212 & 5 0:54.07
o 506 HEFE—HR EXR 6 0:59.72
% 207 RIS H Tl 7 1:00.91
B 415 EEHE 5 1 0:44.21
= 314 =HHEAK Bl 2 0:44.38
HE 315 WFERM Bi;] 3 0:45.77
" 103 EEE RN 4 0:46.22
D 507 FETE 4 ELR 5 0:48.09
= 316 FHEM i) 6 0:48.83
" 104 BEHih i & 7 0:49.61
BE 417 FHKkE *% 8 0:49.90
x 416 =HTAF *5 9 0:50.23
& 604 fERK E & 10 0:50.99
' 603 fTH (218 [& 11 0:54.07
D 506 HERE—EDR EXR 12 0:59.72
% 207 RIFHFH TiREA 13 1:00.91
INEGEZF500m [E0E%:04475 5 H 4 E (RiH) e6@K=
148 =) No E F 4 i JIE 4L FoE% k= B
" 115 EifER [FRA 1 0:45.16
HZE 453 XRIEEHE *% 2 0:45.45
& 611 Bk Ef [ 3 0:45.48
b 454 MUV &HE *5 4 0:45.64
= 345 FTILE imEH 5 0:50.12
HE 116 {EFEER il & 6 0:57.69
2%
% 456 EXEE % 1 0:47.32
% 220 #AEFER TiREA 2 0:48.75
D 517 FREHZE EXR 3 0:54.54
B 610 R U« & 4 0:56.68
= 346 MHIET i) 5 1:04.98
" 117 =ZRBE i) & 6 1:07.68




" 115 EifER [FEA 1 0:45.16
H%E 453 XRIgfHE *% 2 0:45.45
= 611 =ik E4I [ 3 0:45.48
B 454 MO KH % 4 0:45.64
% 456 EXREE E254 5 0:47.32
% 220 #AEFEAR TiREA 6 0:48.75
= 345 BBTILE i) 7 0:50.12
i 517 FREHE EXR 8 0:54.54
= 610 fAR V% I 9 0:56.68
HE 116 {ERAE% [ & 10 0:57.69
R 346 MHEFT i) 11 1:04.98
" 117 =ZBRBEE i) & 12 1:07.68
INESEE B F500m £508%:04522% th E {Z (R)61EKE
148 =) No E F 4 i JIE s o8 ikt Ba
B 412 INEXRH *5 1 0:48.47
i 503 FEHHKXR EXR 2 0:48.70
HZE 413 EMEKR *5 3 0:49.05
= 313 FHE— AmEH 4 0:51.55
2%
x 414 FILEHR % 1 0:51.25
" 102 =i i & 2 0:51.37
D 505 JKEFHM ELR 3 0:52.20
H7k 504 ERTEiH ELtR 4 0:54.06
x 412 INERE % 1 0:48.47
i 503 FHIR 2R 2 0:48.70
AE 413 FHEKR *5 3 0:49.05
B 414 HFILEH *% 4 0:51.25
" 102 =iR# il & 5 0:51.37
= 313 FHE— ;] 6 0:51.55
Bin 505 JKEFEHME EXR 7 0:52.20
M7k 504 EETEiH 2R 8 0:54.06
INESEZF500m £E06%:04608 T A B v (FH) 62@KE
148 & No E F 4 FiE JIE {5 By &% /e
B 450 FHEE *% 1 0:48.98
BE 451 RRER > 2 0:49.11
R 342 JtRH imah 3 0:49.22
i 516 FIHK3E ELXR 4 0:58.90
248
%% 452 TRE A 434 1 0:54.74
= 343 RIEWAE imEH 2 0:59.00
HE 344 XREEEF EiE] 3 1:02.11




i 515 /NVHEE ELXR DNS
% 450 FHEE *% 1 0:48.98
A% 451 REER *5F 2 0:49.11
2 342 JLlRH i) 3 0:49.22
% 452 FEAK 5 4 0:54.74
i 516 FOHK3E EXR 5 0:58.90
R 343 XIEBAE WEH 6 0:59.00
HE 344 XREEEF Bl 7 1:02.11
i 515 JNVHEE 2R DNS
INSE 445 B F500m £5$%:04818 @ F  (FH) 62EKSR
148 & No B2 F 4 g g fi2 Ao ikl Ba
% 204 KHIEFE TiREA 1 0:49.60
# 410 ERREEX E254 2 0:49.76
HZE 409 EBREFERE *5 3 0:50.38
Rk 205 JIIB%t TilEh 4 0:54.41
R 311 INREEA WEH 5 1:15.75
248
#x 411 ETRAE *5 1 0:58.34
= 310 TEFRIE imEH 2 0:58.65
% 203 THIEKHE TiREA 3 1:01.32
i 502 A & ARER 2R 4 1:12.21
HE 312 EEKIE WEH 5 1:13.53
% 204 KHIE®E TiREA 1 0:49.60
# 410 EMEX E254 2 0:49.76
AE 409 EBEARE *% 3 0:50.38
Rk 205 JIIB%Rt TiREA 4 0:54.41
% 411 ETREAE *5 5 0:58.34
= 310 TEFRIE imEH 6 0:58.65
% 203 TEKE TiREh 7 1:01.32
i 502 Fh &R ER ELXR 8 1:12.21
HE 312 BEHKE imah 9 1:13.53
= 311 INREEA imEH 10 1:15.75
B} o#sasxFsoom £5R:04049T £ A T3 (FH) 61EKXS
148 =) No E F 4 FiE g 52 R &% /e
% 219 FFEAFK TiREA 0:52.39




% 447 FEEIRIE E254 0:53.74
A& 448 HENEF % 0:56.11
= 609 HEW FHE I 0:54.07
248
% 218 S HEEFI TiREA 1:03.33
2 341 {hRIBEME WEH 1:02.63
% 449 BEZER % 0:57.22
& 608 #E IR [ 0:57.53
% 219 FEAFK TiREA 1 0:52.39
B 447 (PERERIE *% 2 0:53.74
= 609 HEW; FHE [ 3 0:54.07
HZE 448 HEWRETF % 4 0:56.11
B 449 ZEFER 5 5 0:57.22
& 608 FE MR [R 6 0:57.53
R 341 RIBEH WEH 7 1:02.63
% 218 S EEF] TR 8 1:03.33
INESE B F500m KiER:051351k H £ F(ELR)50EKE
148 & No E F 4 g g fi2 A% ikl Ba
R 307 /hOE WEH 0:58.42
HE 308 FARE Bl 1:04.07
& 406 A *5 1:01.03
HZE 407 FHR®E E254 0:55.73
248
" 101 EfFRK RN 0:53.95
% 202 S EXKH TiREA 1:05.96
R 309 AIFGEERE WEH 1:01.52
& 408 KiTi#45h E254 0:59.34
B 601 TR FHE [ 1:19.43
" 101 2RK [FEA 1 0:53.95
AE 407 FHERX® *5 2 0:55.73
= 307 /hOE ;] 3 0:58.42
% 408  R;Li#dsh *5 4 0:59.34
B 406 F & > 5 1:01.03
R 309 AIPHEERE imah 6 1:01.52
HE 308 FAEE HiTH] 7 1:04.07
% 202 §EXH TiREA 8 1:05.96
& 601 =ik FHEH [ 9 1:19.43
INEIEFEZF500m REER:05227 /N F B # (FH) 9EKE
148 =) No E F 4 Bil] g fiz AL 8% k=t Ba
= 338 =ZH-ZA imEH 0:55.63
HE 339 hiEfEE EiE] 0:59.02




% 445 AFHERE E254 0:56.90

HE 444 #hWi % 0:54.54

= 607 ®EFZF IR I 0:58.54
248

" 114 KHZEEB i) & 1:12.40

% 217 #ZEBD TilEh 1:01.68

R 340 FERODE WEH 1:08.05

% 446 HAEE *% 1:07.29

i 514 HEMMPEE EXR 1:11.59

B 606 fERAK T [® 1:11.44

AE 444 MhUig 5 1 0:54.54

2 338 =HCZZAH Bl 2 0:55.63

% 445 AIFHERE 5 3 0:56.90

B 607 R IEE & 4 0:58.54

HE 339 B i) 5 0:59.02

% 217 #ERD TilREh 6 1:01.68

x 446 BHHREFE *5 7 1:07.29

= 340 FEARODHE Bl 8 1:08.05

' 606 {EARK W [& 9 1:11.44

D 514 HEMMREIEE EXR 10 1:11.59

" 114 KHEE i & 11 1:12.40
INE24E B F500m RECER:0:54.77 /N M 8 3 (TIHEH) 56[EKRE
148 =) No E F 4 iz I 52 Ao &% B/

= 305 /MNOAEKXER Bl 1:13.37

% 402 HEE *5 1:00.27

A% 404 {thkERE E254 1:14.06

7 501  /NithiE EtR DNS
248

R 304 EEHE WEH 1:18.10

HE 306 FEEX imEH 1:38.01

% 403 /MOEKX *% 1:10.99

PrS 402 FHEE *5 1 1:00.27

#* 403 /MOEA E254 2 1:10.99

R 305 /INOEKER WEH 3 1:13.37

A& 404 kAR > 4 1:14.06

R 304 EEHE imah 5 1:18.10

HE 306 FEEBEX imEH 6 1:38.01

i 501 /NithiE EtXR DNS
INFE 2 ZF500m £508%:056.11 2 1B & X RN 40K
148 & No E F 4 FiE I 52 By &% /e

& 216 FAXEPE TiRER 1:12.54

% 442 FLIL#F0 E254 1:12.00

AE 441 LEHE *% 1:11.27




= 605 &K Bt I 1:12.19
248
" 113 /hthEE i) & 1:14.84
= 7 BHFEX iWEH 1:34.08
% 443 HEER F% 1:14.03
=Y
AE 441 LdFE#E *% 1 1:11.27
% 442 FLIL#F0 5 2 1:12.00
B 605 FEK ¥t & 3 1:12.19
& 216 FAEPE TiREA 4 1:12.54
% 443 HEER % 5 1:14.03
" 113 /hthEE i & 6 1:14.84
2 37 BHHEX EiE] 7 1:34.08
N1 EE B F300m REER:0:37.71 /N M 8 = (T#REH) 55EK=
148 =) No E F 4 i I 52 EiE s &% B
= 01 FHRY Bl 0:44.43
% 405 {REEsL[S *5 0:40.66
A% 401 SEE E354 0:41.05
248
% 201 EEEA TREA 0:49.38
= 302 =FHEK imEH 0:41.24
HE 303 WM#AEHR WEH 0:58.87
% 405 {FEEsL[5 *% 1 0:40.66
A% 401 EEE E254 2 0:41.05
R 302 =HMHK WEH 3 0:41.24
= 301 FHRY ;] 4 0:44.43
% 201 EEEA TiREA 5 0:49.38
HE 303 W#FEHR ;] 6 0:58.87
INF 1 FE & F300m £508%:0:38.86 B B 1E X (THFHH) 61EKE
148 =) No E F 4 FiE I 52 By &% /e
% 214 FrERMMA TiREA 0:41.44
= 335 =<5 imEH 0:52.49
B 438 AR *% 0:41.66
AE 440 ERLZD E254 0:44.01




% 215 HWEXTy TiREA DNS

= 336 KIFfFHE imEH DNS

HE 334 BEEB EiE] 0:52.88

& 439 BEFRE E254 0:44.98
=Y

% 214 EFEAMMA TilER 1 0:41.44

B 438 AITRHE *% 2 0:41.66

BE 440 ERLZD *% 3 0:44.01

% 439 BEFRE *5 4 0:44.98

2 335 dhE< B Bl 5 0:52.49

HE 334 EE@ EiHi] 6 0:52.88

% 215 HWEXTy Tl DNS

2 336 KIFfFHE imEH DNS
=% BF3000m £506%:40383F R ZF t(FH) s4EKS

=) No E F A i JIE £ EiE s &% B/

" 109 ETIEHE i) & DNS

% 423  fEXMA *5 DNS
rh22 B % 3000m RE0ER:41321 T A T K (FH) 66EKAE
148 & No E F 4 g JIE {5 A% ikl Ba

" 106 #AfiEE i) & 4:22.80

H&E 108 REMER R 4:27.16

% 209 FHITthek TREA 4:54.07

= 317 =ZHREK Bl 4:20.89

HE 320 WHARBRZ WEH 4:45.61

B&E 421 UKEX E254 4:24.65

% 422 AKREE *5 DNS
2%

" 105 #EIXK R 4:36.19

HE 107 EBEW RN 4:37.38

% 208 THRXK TilEh DNS

R 318 GEFHIGK WEH 4:38.08

HE 321 /MER imEH 5:08.08

% 418 L EHA *% 5:36.20

A& 420 FHXK E254 4:33.82

R 317 =ZHRX ;] 1 4:20.89

" 106 #KfiiiE RN 2 4:22.80

H%E 421 WAREBX *% 3 4:24.65

HE 108 RE/MER RN 4 4:27.16

HZE 420 FHEX *% 5 4:33.82

" 105 #EIXK [FEA 6 4:36.19

BHE 107 EE® EES 7 4:37.38

_‘]0_



= 318 EFIGX imEH 8 4:38.08
HE 320 WMAERZ EiE] 9 4:45.61
& 209 HEITthEk TiREA 10 4:54.07
HE 321 /IER i) 11 5:08.08
& 418 LA EHA E254 12 5:36.20
#*® 422 HH%REE *% DNS
£ 208 THRK Tl DNS
IN$ £ F1000m L5067:1:3084 5\ /it ¥ B (£H) 66EASR
148 =) No E F 4 g g fi2 o8 k=t Ba
" 115 BiHAR i) & 1:32.75
HE 116 {ERAE% PR 1:37.00
R 342 bR WEH 1:37.14
& 454 MU LG E254 1:32.39
HZE 453 KIEHE % 1:33.47
& 611 =R 4 [R 1:32.31
248
" 117 =ZHRBEAF i) & 1:55.68
% 220 #AEFEAR TilREh 1:42.49
R 345 FTFILE WEH 1:42.13
# 455 TEREEHk E354 1:33.82
D 516 FIHKZE ELR 2:04.14
A 517 WEHE EXR 1:51.18
' 610 #E V% [R 1:55.97
3#f
= 338 =ZHZZA imEH 2:11.82
% 217 #EHD TimER 1:57.30
Bk 219 FFEAFK TilEh 1:49.39
B 609 HEW BFHE & 1:56.50
i 515 INVHER 2R DNS
B 611 EIR X4 & 1 1:32.31
# 454 MUV &7 E254 2 1:32.39
" 115 EifEK i) & 3 1:32.75
HZ% 453 XKIBfHE % 4 1:33.47
x 455 TEREEHk *% 5 1:33.82
HE 116 {EREX% RN 6 1:37.00
R 342 JtRH ;] 7 1:37.14
= 345 FTLE imEH 8 1:42.13
& 220 HAE®EAR TiRER 9 1:42.49
Bk 219 EFEAFK TiREA 10 1:49.39

_‘]‘]_



Hf 517 MEHE EXR 11 1:51.18
" 117 =ZBRBE i) & 12 1:55.68
= 610 #E V& [ 13 1:55.97
& 609 REWE HE [& 14 1:56.50
& 217 #ZEBD TiREA 15 1:57.30
i 516 FOHKZE EXR 16 2:04.14
R 338 =ZHCZZA WEH 17 2:11.82
i 515 /NthZEE EtR DNS
— % 55 F308% L1 £ 1000m £508%:1:1946 L £ & B (TFlsh) e6@MASR
= No E F A i JIE s o8 k=t Ba
R 327 E&FEKER i) 1 1:27.29
% 430 HKIE *% 2 1:33.67
HE 329 JEE i) 3 1:33.89
) 110 FEE RS 4 1:35.71
Bk 213 PWER TiREA 5 1:59.18
% 212 EIRFBE TiREA 6 2:23.06
INE B F1500m £508%:21489 % it & {Z (R) 62EKAS
148 =) No E F A i JIE £ EiE s &% B/
g 103 EEE RS 2:38.62
R 314 =HEKX WEH 2:25.95
HE 315 ##FFRM HiH;] 2:26.91
% 416 =HTAF *5 2:48.94
BH%& 415 EEHE *% 2:23.21
D 507 FETE4X EtTR 2:30.70
2%
" 104 EBEHh RN 2:39.07
R 316 FAEM WEH 2:38.45
i 503 FHIR 2R 2:38.43
B 604 {EARK B & 2:44.60
HE 603 fTH (218 [ 2:59.00
% 207 R AH TiREA 3:37.97
3%f
" 101 BifFRX i) & 2:55.12
% 205 Bt TiREh 3:03.81
Rk 204 KHIEF TiREA 2:33.14
% 410 RMEEX *% 2:33.32
i 505 JKEFHM EXR 2:35.28
B 601 EiR Fi IR DNS




B&E 415 EEWHE E254 1 2:23.21
= 314 =HEK EiE] 2 2:25.95
HE 315 WFFRMA imEH 3 2:26.91
i 507 FEETE&E EXR 4 2:30.70
Bk 204 KHIEF TiREA 5 2:33.14
B 410 RMEEX *% 6 2:33.32
i 505 JKEFEHM EXR 7 2:35.28
i 503 FEHHKXR EXR 8 2:38.43
R 316 FAEM i) 9 2:38.45
" 103 EEE [FEA 10 2:38.62
" 104 EBEHih i & 11 2:39.07
B 604 {ERK B & 12 2:44.60
B 46 =ZHTA T *% 13 2:48.94
" 101 ERK i) & 14 2:55.12
BHE 603 {TH 28 [ 15 2:59.00
% 205 I &%t TiREA 16 3:03.81
% 207 RIBXFH TilEh 17 3:37.97
& 601 =R FHE R DNS
B} +sxFis50m £542:21357 B Il REE (FH) 0EAS
148 & No E F 4 g JIE {5 A% ikl Ba
o 119 XIFHE RS 2:19.42
HE 118 MHAEM RN 3:05.51
% 221 FFERATEE TREA 2:19.96
= 351 AEER Bl 2:18.52
HE 349 JLERFH WEH 2:19.67
#* 457 S/ HEE E254 2:19.58
H%E 458 /INEEER *% 2:19.90
& 613 EIRFEME [ 2:19.17
248
% 222 KHEBEE TiREA 2:28.39
= 350 /INEHE imEH DNS
HE 347 XKHHER WEH 2:21.71
B 459 XIFE{E E254 2:29.74
HZE 460 HFILFSH *% DNS
i 518 KIIBHEIE EXR 2:21.58
B 612 FFEAEHE & 2:25.76
we
= 351 AEER i) 1 2:18.52
B 613 EIREHE & 2 2:19.17
" 119 XIFHE RN 3 2:19.42
% 457 4/ HEE *% 4 2:19.58
HE 349 Jb[E{FEE i) 5 2:19.67
A% 458 /INEEER *% 6 2:19.90
& 221 EFERATER TiREA 7 2:19.96
Din 518 XKlIHEIE EXR 8 2:21.58
HE 347 KB%EH ;] 9 2:21.71
& 612 EFEAEHE & 11 2:25.76
& 222 ¥EBE TiREA 12 2:28.39

_‘]3_



B 459 XRIFEE % 13 2:29.74
HE 118 MHAEM [FEA 10 3:05.51
= 350 /INEHE EiE] DNS
HZE 460 HILFEIR *% DNS

— % BB F295% LL T 1500m £E08%:15768 £ F BAER GREA) S8EAS
= No E F A i JIE s o8 k= Ba
=By 425 FLILSEK *5 1 2:00.39
S 424 REOER= *% 2 2:00.81
= 323 Fih—K i) 3 2:25.29
% 210 A EA{E TilEh DNS
HE 325 TEEEBEKX EiE] DNS

B EZF1500m £5345%:2:11424 38 HHY (EH) 64EKE
= No E F A i JIE {5 A% ikl Ba
% 461 FAKREIRTE *5 DNS

_‘]4_



INSE £ F2000m Y L— £542.30521 | I W GIEAS
& | No | mETAI% K% B | @ | mE | /A
% | 14| F B 454 MOLG 456 BREBLS LM

453 EIGEHEAS0 PHEE 451 R
1 3:24.68
& (11| m & |16 ema% 113 MEEEIT] 520
F 115 AIEEKRI14 KHRER
2 3:40.30
® | 12| T@m: 220 @ 218 BMBE2] BARD
219 BEAF K216 BAEPE 214 BB
& 3 3:49.05
= | 13| I I 342 LB 343 XIEHEIS =H_C 5
35 ERLEIY IEEE 346 HEED
4 3:49.71
& | 16 B 600 Bl ®E 608 TR BREZ610 1
B O 611 BmIR £41606 f£AA B
607 B IEE DQ
| 15| BER | 514 iEREEE 515 1OEE516 AR
% 517 mEMS
DNS

INEBF2000m ) L— XERR 25767 ¥ B H @A
& | No | mETA K% B | ms | mE | /A
B2 | 23 | &/ I 315 RAEA 313 THE—316 PARM

314 =HHA307 /hOE 310 THEFmIE 1 3:18.26
B | 24| ¥ B 413 TMEEk 412 INEAWAG =HTA

+ 415 EEHEL9 BEFH 414 4 2 3:21.25

[ITp=£
B | 25 | =LH | 503 PHEE 504 BETEE505 KHHM

507 FEETH &£ 3 3:30.66
BE | 21 | @ & 104 BmiE 102 2RE101 ARA

103 ;B & 4 3:30.89
B | 22 | T@ | 205 JBEE 206 R @A BEE

& 204 KHEIEFE202 & X 203 5 4:12.49

ERIE
5% | 26 B 603 7E [EE 601 B HH602 £EX

K BE 604 5K B DQ

Y +x72000my L— KRWF 25254 B # SSEAR
& | No | mETAIA K% I | 8% | mE | /A
£ 33| W I 348 SHSE 347 KBEMHM LEEE

351 EEABL3B0 NEHE 1 3:07.05
% 34| ¥ B (457 5h/BEE 458 INEEEEAN0 K DNS
BiE 460 F1LUFE=

EY 23 72000muL— KRR 24106 B F W MEXR
& | No | TETH K% I | 8% | mE | /A
E%E | 41| [ & |106 W& 105 MEA108 GRAER

107 B 1 2:43.89
B3 | 44| % B 420 WABA 420 FEZA9 BEAR

422 AREEL8 BEIHA 2 2:48.87
EE | 43| W 5 320 MEAE— 318 BHEAI LEER

317 SHRA32 IAER 3 | 25071

_15_




— 15 F2000m L — REER:20368 W B M STEAR

# | No | HHETH# K4 g £z L8R #E | BR
ES

#* 64 5 425 ALK 426 mEE42] B RE
424 FEOFR=428 AigEH 429 INFRIE 3 1 2:39.75

=l 63| W 5 323 Eh—F 329 JL[RE324 E[RERA
327 £FHAKER325 FEEEBEK 326 =& 2 2:42.40

ER

% 62| Ti#R:H | 210 hEBE 211 BAm#212 =IRIE DNS
213 IpMAERR

7 65| ELXHR |508 FHEK 509 {E{H=E#E510 KEREEX DNS

511 ABKEZ512 FNAEZ

_16_



m B & ¥ R R X
No A S S - | B E&m | THEREAET | WEAT™ FHMm | ELRE [R#+F
1| BREBF 500m 6.0 5.0
2 | BRET 500m
3| —HREF2mELUT  500m 9.0 9.0
4| —fEBEF26/% ~297% 500m 6.0
5| —f& 8B F30m% ~394% 500m 4.0 8.0 8.0
6 | —f%5BF40m% ~49% 500m 11.0
7 | —f% B F507% ~597% 500m 3.0 9.0 8.0
8 | —f& B F60m% ~69% 500m 3.0 40 11.0
9| —fRBFIOmMLULE 500m 6.0 4.0 8.0
10 | —fs&ZF 500m 4.0 3.0 7.0 6.0
| hEEF 500m 6.0 6.0 9.0
12| RERF 500m 2.0 40 7.0 5.0 3.0
13| INFEE6ERF 500m 3.0 10.0 6.0 2.0
14| IMNEEELF 500m 6.0 1.0 10.0 40
15| INEBERF 500m 2.0 1.0 13.0 5.0
16 | INESFELF 500m 5.0 14.0 2.0
17| hpaEBF 500m 9.0 1.0 11.0
18 | INEAFELF 500m 6.0 10.0 5.0
19 | INEIERF 500m 6.0 5.0 10.0
20 | INESHELRF 500m 1.0 7.0 10.0 3.0
21 | INBP2FEBF 500m 7.0 14.0
22 | INE2FERF 500m 1.0 3.0 13.0 40
23 | INE1ERF 300m 2.0 8.0 11.0
24 | INE1ERTF 300m 6.0 3.0 12.0
25 | BREBEF 3000m
26 | FEEBF 3000m 9.0 6.0 6.0
27 | INEZF 1000m 5.0 10.0 6.0
28 | —fREF30mULE  1000m 3.0 3.0 10.0 5.0
29 | INEBF 1500m 2.0 9.0 7.0 3.0
30 | FERF 1500m 40 8.0 40 5.0
31 | —fEBF29m LT 1500m 4.0 11.0
32 | BREF 1500m
33 | INEZRF 2000m!)L— 5.0 4.0 3.0 6.0
34 | INEBTF 2000m'JL— 3.0 2.0 6.0 5.0 4.0
35 | ERF 2000m!)L— 6.0
36 | FEHEF 2000m'JL— 6.0 4.0 5.0
37 | —mEBF 2000m!)L— 5.0 6.0
= B 78.0 53.0 175.0 261.0 29.0 30.0
& iz 3 4 2 1 6 5

_17_




